Set B reasoning 
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| Jack has z% kg of potatoes.

He uses 3 kg of potatoes.
How many kilograms does he have left?
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) Aisha gives  of a pie to Mo.

How many pies does Aisha have left?
b) Aisha then gives 2 pies to Jack.

Calculate the difference between how much pie Aisha now has
and how much pie Mo has.
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Teddy hos 4

LN,

Teddy pours 3 of a litre into each jug.

res of juice and 3 jugs.

How much juice does Teddy have left?
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Alex and Annie are taking turns playing a computer game.
Annie plays for a total of z% hours.
Annie plays for % of an hour more than Alex.

How much time do they spend in total playing on the game?
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Work out the subtractions.
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) Complete the calculations.
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I have 5m of rope. | cut off %m. How much rope is left?
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. Atailor has 3%m of ribbon. She uses 1%m to complete a dress. How much ribbon
is left?




